N = 0l & At & M A

A UAXH D
M F0l ME MO CO(UNDIHE /UMW)

Chel: QIYEAH 2 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
22 XA ut 5,472,766 4,810,219 662,547

= 1,364,044
= 24,761
Al 4,083,961
=0 #F mo CR(YprZIEA /e A) 430,773 376,703 54,070
2 78,916
Al 351,857
QY el 408,411 354,341 54,070
= 78.916
Al 329,495
DIAAFHAMEIA &Y 329,495 289,059 40,436
201 et 176,466 168,047 8,419
01 At 22l 69,361 61,923 7,438
O L=+t 58,761
o SE3IYLZI ARE Y 32,580
- =38, AHSHE, 23
105,000& = 1901 * 43 7,980
- D2l EY 220,000& = 1904 = 43l 16,720
- ZFER0A 414, 7003 = 19CH = 13 7,880
o FUSE, UL MRBEEYE 2
50,000& 30 1,500
o ZAUANBAAECNE E2E= MEH 2,000
- 8% 80,000& = 104 800
- clE3 300& = 4,0000H 1,200
o OPIFCUSES €= 2,085
- o2(¢3) 99,000 * 1504 1,485
- PVCItE 400 = 1,5000H 600
o RoloALZI| E2X 7L
54,5003 » 1002 A 5,450
o RODIALZ(ULIZAIA) 228 2 3,780
- ElH 260,000& = 1204 3,120
- HEH 55,000& = 1204 660
o ROIDIALZ(SIETAZE 7¢ 6,958
- B4 451,000& = 114 4,961
- &4 132,000& 1104 1,452
- HEH 49,500& = 1104 545
o ROQALZ(2HEHI)ARZS P 484
- EU(SELNE) 242,000 = 14 242
- HEF 242,000 = 14 242
o plog oARE M
150& = 10,00000 = 13l 1,500
o = JtH 2E &M FY 2,424
- 2t 13,000& * 482 x 12& 624
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A UAXH D
M 30 M MO CO(UUDTTHE/AUHME)
&S oA 2el (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O e+l 13,094
o HHEYRFA A2F FL(98)
13,094,000& * 14 13,094
O =&l 3,840
o 03 gRFa
8,000& * 4% » 10 » 123 3,840
02 =224l 368 368 0
O 33223 % HA 368
o HAEHEZRA R4 SHaltl
40,400 = 4H * 2.07 = 1.1 368
202 044l 5,060 5,060 0
01 = LH o4 1l 5,060 5,060 0
O HAYR A=
85,000& = 2 * 2& * 33 1,020
O YR As &4
85,000& * 2 * 2& * 23] 680
O HssEL oA ne
20,000 = 2 7 * 123 3,360
Y SH(RELNANL /NI LT A 4,810,855 4,203,444 607,411
= 1,285,128
= 24,761
Al 3,500,966
A& zte] 239,004 103,816 135,188
= 14,761
Al 224,243
AN&E 52 & EX 0ls ™Mal 239,004 103,816 135,188
= 14,761
Al 224,243
201 ¢er24| 230,344 93,951 136,393
< 14,761
Al 215,583
01 At 22l 228,724 89,700 139,024
O e+l 226,420
o NEHEFE A2F  1,000,0008 * 14 1,000
o NEYRFN Y ZAE S2H X3
2 1,100
- 2BEXI(A0) 27,5002 * 208 550
- Edl&XI(A0) 110,000& * 58 550
o XEZHE M E2 Hold P2 825
- Z22AM 5,000& * 304 150
- SEZUc 45,0003 = 1574 675
o EEH 23, o, 22U (SET) 7 2,442
- 23 130,000& = 62 » 23] 1,560
- olE 441,000& = 24 882




SA: PRXED

HE: NNHY SY(FELXAWL/NALEA)

el XX B2 (ol @)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
o NEZZH s FA(ZMACIA)
250,000& =« 1CH 250
o NHJIZE NAHEZS HEHS =2 &
== 49,203,000& * 14 49,203
< 14,761
Al 34,442
o NN=Y 2UE Maus = 19,600
- EolEM NESY ADE
8,000&  1,750%& 14,000
- AEAT DolAE AMYRZ (02
2 8232 2,000& » 2,800& 5,600
o NEFHE MMEHE s NEBEZH FdlA
2 = 152,000,000 * 14! 152,000
O =&l 2,304
o EXOls ¥ XNEZSY dUTAMN GRFA
g2 8,000& = 3H * 8¢ » 123 2,304
02 3323l 1,620 4,251 AN 2,631
O A& ZHIKRXH 1,620
o MIUEH CIFASHAAHY FANE=
580,000& = 14 580
o NHSHESEHAANLY SN+
1,040,000 * 14 1,040
202 o4dl 8,660 9,865 A 1,205
01 = LH o4 1l 8,660 9,865 A 1,205
O EXOIsX & Xl At
20,0003 = 3% = 4 « 128 2,880
O gkl 28 & &8 =2 A
20,0003 = 3% x 4 « 128 2,880
O XN&EIJI&EE &AM
20,000& = 2% = 10 » 3= 1,200
O EXN#EHE A X& AL3 9
85,000& * 2% » 1« 170
O XNEHE A==H3a &4 680
o MetgE XNEHHE AUz &4
85,0003 * 2% » 2 340
o RES NNHH A5 &N
85,0003 = 2% » 2¢& 340
O N==Y BHUS FA
85,0003 = 2% » 2 340
O NHeFY=Y ALNH ALs o
85,000& = 3H » 2¢ 510
4 2e| 497,455 400,570 96,885
= 76,423
Al 421,032
234 22 29 27,350 19,550 7,800
201 L2l 16,750 8,950 7,800




2N
X ZH -
L= B

el

o1 % X = 3t
NHSE S (IELXANL/TSLTA)
REa 2

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 At 22l 16,750 8,950 7,800
O e+l 16,750
o 24 HHASt 4D EES HMH 6,020
- 2 EH 1,000& = 1,200& 1,200
- @9 180,000& * 107K 1,800
- WEWMH 20,0002 * 1002 2,000
- 2cliatg 850&  1,200& 1,020
o 2E3d SHES REE M
30,0003 = 3304 9,900
o SYHIMWAMRA 2tE 2
200,000& = 14 200
o RSE SR A1 ot =9 ME
70,0003 * 9 A + 13 630
202 4l 6,100 6,100 0
01 = LH A HI 6,100 6,100 0
O 2¢ HelH <t D Y EX SX XA
20,0003 = 29 = 2¢ » 123 960
O EXNEE F2AIH T& AMgs2 4
85,000& = 2% « 13 170
O 2SUIHMRBL Al.Z 3 AE &=
85,0008 = 2& * 5& » 23 1,700
O 2SUIHMEBL HE S g2 E B
20,000 = 2 * 4 123 1,920
O SSMNUANY A2 HIAE A
85,000& » 2% = 3 510
O SUSMAY g AL L Hel(S)
50,000& = 2% = 5 500
O EXAcHaI= XN&E & oM &2
85,000& = 2H =« 23| 340
301 LA F 4,500 4,500 0
12JIE243 4,500 4,500 0
O £S5 S &89 &1 Ly
500,000& * 2A 1,000
O EXAHHAHAS I RABAIE A1) ZAFS
500,000&  2&A 1,000
O BES&AdN A Za=
2,500,000& * 14 2,500
MHESAIXI ZA 29 79,745 74,768 4,977
201 L2l 72,065 67,088 4,977
01 At 22l 72,065 67,088 4,977
O e+t 70,065
o WLRLZ SEAE XII2E Wis42
1,200,000& = 2J4212 » 10E Xl 24,000
o NHYRLD SRR HLHS 4F ol
d&E =2 700,000& * 17|12 = 50A 35,000




A UAXH D
M NHHN 2R (FEUX AL /MALECAI)
Sl 2S ael (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o HESAXI 222 S0 L i H
& 6,690
- 8= 70,0003 * 29014 = 33 6,090
- ggu 600,000& = 14 600
o HEZAXI 2AE & =282 S2H
223 4,375
- &= EX(A0) 27,500& * 708 1,925
- 243, slE, el (SET)
350,000& =« 744 2,450
O 2g+y 2,000
o BEMINABAIAAE Holig
100,000& = 10H = 23| 2,000
202 4l 7,680 7,680 0
01 = LH A HI 7,680 7,680 0
O MHESAXI It XA 5,400
o =X 20,000& = 5H = 5 * 9F 4,500
o TA 50,0002 * 3% » 63 900
O Hg=e3 HNEAM
20,0003 = 29 = 4 « 103 1,600
O MHESAXI 28 2 & & g 4
85,000& = 2 * 2& * 23 680
HESAIXIIE ZA 206,798 187,687 19,111
= 76,423
Al 130,375
101 14 Hl 37,700 35,863 1,837
= 18,850
Al 18,850
04 JIZHHZ22XREES 37,700 35,863 1,837
O HE AKX g4 dMEX 37,700
o o8y 73,2803 * 2H * 5 » 4= 24,916
= 12,458
Al 12,458
o FHRE 73,280& * 2F 18 » 34= 4,984
= 2,492
Al 2,492
o MIBEZ4UHEE, SAXIIQYEEH)
4,400,000 * 14 4,400
= 2,200
Al 2,200
o E&H 10,0003 = 2 * 5& » 34= 3,400
= 1,700
Al 1,700
201 £B-2dH| 165,098 147,824 17,274
= 53,573
Al 111,525
01 At 22l 165,098 147,824 17,274
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A XA
g IRHE SH(FEUNANL/XALCAI)
& Fs4 e (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
202 Od4dl 6,680 9,080 A2,400
01 = LHA YI 6,680 9,080 A 2,400
O &oNedg MHEEX EEH A 6,000
o =X 20,0003 = 29 = 5 » 123 2,400
o &M 50,000& = 2% = 3 » 12& 3,600
O PSNSEY 22 5% L T 1S &Y
85,000& » 29 = 22 « 23| 680
CE2HFA 2el 292,565 292,754 A 189
< 10,000
Al 282,565
E2Y Y HEHS 20 292,565 292,754 A 189
< 10,000
Al 282,565
101 @144 dl 80,443 64,028 16,415
04 JIZHHZ22XRHEES 80,443 64,028 16,415
O FABEBANE LHEA HARA 18,821
o FY 73,2803 * 1H * 5 » 34= 12,458
o FFEE 73,280 * 1H * 1 » 34= 2,492
o MEAZ PHAY
6,720& * 1Y * 6 » 34=F 1,371
o MIBEZAUHEE, SAXIIQYEEH)
2,500,000& * 14 2,500
O FAZEANE LHEA AEBHZARA 61,622
o 2y 73,2803 * 4Y x 5 x 26 38,106
o FEE 73,2803 * 49H + 1€ * 26=F 7,622
o M3 BE4Y
6,7203 * 4H « 6Y * 26 4,194
o =&l 10,0003 * 49Y = 5 » 26 5,200
o MIBEZ4UHEE, SAXIQYEH)
6,500,000& = 14 6,500
201 LB-2E | 28,400 25,210 3,190
01 At 22l 16,720 18,650 A 1,930
O el 15,720
o T2Y 9 H2SHS R0HME EE=S HME
6,000& = 1,30000 » 1& 7,800
o HSHSE F0H 6,100& = 1,2000H 7,320
o FAFEALE LHMEAMA HE HE 2
100,000& * 63| 600
O 2g+¢ 1,000
o FAHEARS FA ¢
100,000& * 5% * 23| 1,000
02 =224l 11,680 6,560 5,120
O ADE 2IFAXHBAIAE(KAIS) HIOIH 2
=2 140,000& * 12& 1,680




SA: RIRKIE D
A NEEE 2 (ZELXNIAML/NSLEZ AL
Chelr 2 FA 2el (&)
SA - BB B () - MM - BES Ol &t o San HmEET
O FA2EBANE |RXE =
10,000,000& * 14 10,000
202 O4dl 12,220 13,820 A 1,600
01 = LHA YI 12,220 13,820 A 1,600
O FAFEANE LMEA 8,000
o =X 20,0003 = 3% = 10& ~ 103 6,000
o &AM 50,000& = 2 * 2& * 103 2,000
O c2¥x4s 82 2 1S
20,000& = 2% = 103 400
O M= 20 20,0008 » 2H » 52 * 53] 1,000
O =X FHSE X &8& A 1,800
o =Xl 20,0008 = 2& * 5 » 43 800
o &M 50,000& = 2 * 5& * 23 1,000
O FA2ZE g2 32 - ux 2 A3IS
&4A 85,000& » 298 = 3 « 23| 1,020
308 XX EHHSOIA 34,747 27,098 7,649
113/ 2SoHUHeZAEEALS I 34,747 27,098 7,649
O E28=A J|2& &3 AIY
15,881,000& * 14 15,881
O =NFLFBANAE SX2e & 2SN
18,866,000& * 14 18,866
401 Al HI K 201 I 136,755 160, 150 A 23,395
< 10,000
Al 126,755
01 A& HI 136,755 158,897 N22,142
O HeSdas® MM OGHE 2L L &X
9,800& = 5,179 50,755
O E2g8 JdHMEAMN OHE 7 L &X
200,000& = 5004 10,000
O =2 & IXZUY g - 28NS &2
FE 2y 2 & 16,000
o XHEE 300,000& = 204 6,000
o BAIE 200,000& = 5004 10,000
O0lHEZ WXZUY BEYXE T2 2
ES= N 20,000
o BYMIE 200,000& = 1004 20,000
O =JtX&8gse X 40,000,000& = 14 40,000
< 10,000
Al 30,000
K= THZ AFAFS 22l 3,781,831 3,406,304 375,527
= 1,208,705
Al 2,573,126
NETHEALALY 22| 29 2,573,126 2,295,816 277,310
201 YEr2 Y| 665,006 372,758 292,248




SH: RIRT D

g IRHE SH(FEUNANL/XALCAI)
Ehelr X ETHEALALS 22l (&)
SA - BB B () - MM - BES Ol &t o San HmEET
01 At 22l 578,006 329,758 248,248
O e+l 573,838
o NETHEZAMAIY EEE Y
80,000& = 33| * 8 1,920
o NETHEAANY EE2 23 MH
7,000& = 7004 4,900
o NETHEAAY UaX EHESHE S2H
283 5,438
- &€ X (A0) 27,5004 = 158 « 33l 1,238
- 243, olE, 22l (SET)
350,000& = 6 « 23| 4,200
o KNEMMEA ZHSLUE 2FEII=+2(20
219 S AFE) 44,0008 * 5, 1102 Xl » 2JH At 449,680
o NEMZEAN ZHZ 2 +48(20204E
Ared) 102,900
- AP 280,000&  330A 92,400
- =gNR 150,000& * 70A 10,500
o XNETEAMIF JINEE HLH]
25,000& = 360& 9,000
O 2g+g 1,000
o NETMEMIHE B4
100,000& = 5% « 13/ 500
o FHULIANE FHLY
100,000& = 5% = 13 500
O =gl 3,168
o XNETHEAAY SR EXNSEESIZAN e
= 8,000& * 6 = 6 » 113 3,168
02 =24l 87,000 43,000 44,000
O 332= % HMA 87,000
o KNETEAALG WX 2FI SES ¢
S(SHu3 3,000& = 29,000 87,000
202 Od4dl 8,120 7,560 560
01 = LH o4 4l 8,120 7,560 560
O NETHEA HAX 8&F X XA
20,0003 * 49H » 15 1,200
O XNETHZAL =CIHHS] L O HE
g E 20,0003 = 49H » 15 1,200
O XNETHZALAIS X7 EXNSEZAL & S
3 20,0003 = 38 + 7 » 8Z 3,360
O =XXF HASXAH e GE se4dn
2 At 20,0003 = 29 » 25¢ 1,000
O NETHEAMY &R 2.5 319 & FR
o &4 85,000& * 2 * 2& * 43 1,360
301 LB B 1,900,000 1,915,498 £ 15,498
12243 1,900,000 1,915,498 N 15,498
O 20208 MEA2Z2X 7 =E3 NS 1,900,000




SH: RIRT D

M NHHN 2R (FEUX AL /MALECAI)
S XIETHEAFAIS 22| (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
o ASES 500,000,000& = 1Al 500,000
o s&EIIE 750,000,000 = 14! 750,000
o StA0IHA 650,000,000& = {14l 650,000
INESPUENUNINR =N 1,208,705 1,110,488 98,217
= 1,208,705
201 LBt Y| 1,208,705 1,110,488 98,217
= 1,208,705
01 AP 22| d| 1,208,705 1,110,488 98,217
O gbtx==H| 1,208,705
o 20229 = R BTHEAAIY =& =EH| 1,154,341
- SNRE 316,899,000 = 14 316,899
= 316,899
- SHNEH 111,260,000 = 14! 111,260
= 111,260
- SN2 270,617,000 = 14! 270,617
= 270,617
- ActE 455,565,000 * 14! 455 565
= 455 565
o 20229 & X EIHEAIAIY J|=&E 2= 24,364
- SRS 6,900,000& = 1A 6,900
= 6,900
- SHNEA 3,234,000 * 14 3,234
= 3,234
- S22 5,767,000& = 1A 5,767
= 5,767
- Acte 8,463,000€ = 14l 8,463
= 8,463
o 20229 = XIEIHEALALSY 29H|
30,000,000 = 1Al 30,000
= 30,000
SHMSAAH(SIKAXI =) (IIEH/DIE 231,138 230,072 1,066
ol =2 A Y| 28,210 27,264 946
ol =AY 28,210 27,264 946
101 Q124 H| 28,210 27,264 946
03 22X (RIHS)22XE 28,210 27,264 946
O A2t 2822% 28,210
o <IP>AZ(CIKA0H)
13,060 * 6 = 20AI2F = 128 x 150% 28,210
JlE&ddl 202,928 202,808 120
Jl2 &4l 202,928 202,808 120
201 LBt 179,404 179,404 0
01 AP 22| H| 151,580 151,580 0
O LBtxx=ZHl S HAHA 123,828,000 * 1 123,828
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